T _
68. - JXQH dx FHEATTE? |72, o o @ v wE T o ® SR ,
C Y oxT+l , x=0?—0-2 8 @ x24+dx+7 FHT T
' g7 : '
; 3.
(a) %—x+4tgn_]‘x+_c {4l _I_z'
3 | ' | . (b) -1
(b) I{—+x+4tan_1x+c
: 3 . ¢ O
SN : (dy 1
(c) %—x+2tan‘“1x+c . ‘ '
5 | |73 o cosx e -1, @ - TPE . mrummmd e
X ol ~l+cosx -
{(d) ?—x—ditan X +C ' )
. - ' (a) - cot =
S8l ¢ TS FHGEH-3FR 2 | 2
T
b t —
(b} 00.2

. +6'x+4 ) ’ ;
- 69, - lim [x ] HLAF TR ? e _
g x—aee | X+1 (¢). tan — ;

Lol (d) - tan >

b €2 2

) et . . ' : ;

(Z) . 74, 54 @@a-ave & BR & 3999 DU ITS IR I
e

_ : ‘ 5m gl W wd g 757 #1 eeans &
70, @t (0, 2,2), 2,0,-1) IR 3,4, 0@ BF|  emwmwiaE @ s

I &AwE T E P ‘
s . (a) 156 m
() 15/2 o 51 I
(b) 15 aff SR | "
© 72 o W lkm

. ' 1 L
7 AR ax? 4+ bx+c=0 BN A 2_‘{3%75. oft A = P((1, 2) 5 P U wHwd @ afa

' - Fr i IO IR Lo o e s R o B o e
S a, b, c IRATD &, A a, b, ¢ S T BHT ,

g ? @ (L,21CA
(a) .6, -4, 1 . _ by 1leA
0.4, & ) o¢eA

(c) 3, -2;,1

(d). 8, 4, 1 {d) {1,2) e A
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76.  The geometric mean of three numbers was 80. In a triangle ABC, BC = 439, AC = 5"anc‘:l

computed as 6. It was subsequently found AB = 7. What is the measure of the angle
that, in this computation, a number 8 was A? B
wrongly read- as 12. What is the correct
geometric mean ? , my O
(a) 4. _ . 4
ol | k) Z '
(b} C;‘/g 3
() 2318 - (o) g
(d) None of the above n
@ -
‘ 6
Let A= | 2| =(a], whe 2| . A5
77. et = = [a,.], here 1, j = 1, 2. : ‘. o i
3 4 fffs TR 81. What is the modulus of % ?
) ) . . 1'-_ 1_1
1ts inverse matrix is [b. ], what is b, ? % Y
ij 22 (a) 1
' (a) -2
b) V5
(b) 1 _ - . :
3 ' © 3
(e) 5 : '
) @ 5 |
d _'_. . . ¥
(d) T3 | ‘ ‘ | |
: . Py 82. If the line through the points A (k, 1, —1) and
~78.  The angle A lies in the third quadrant and it | - B(2k, 0, 2) is perpendicular to the line

through the points B and C (2 + 2k, k, 1), then"

tisfies th tion 4 (sin? = 1. :
satishes the equation 4 (sin“ x + cos x) whiat s the value of b ?

What is the measure of the angle A ?

. " {a) -1

(a) 225° N ' . (b 1
RORET o (© -3
(e) 210° ° : @ 3

(d) None of the above

183. Whatis J L — dx equal to ?
g " ‘ : ' L
. 79, What is the area enclosed between the curves :

y? = 12x and the lines x =0 and y =67 ' .(‘a) x—in X+ ¢

(aL)r ‘2 square units ) K (b) x-—In(tanx) + ¢

(b} 4 square units | ) x-In(1+ e")k s

(¢) 6 square units ‘ . (@) In (1+e%+c |
(d) 8 square units ' i . ' where ¢ is a constant of integration.
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76.

.

78.

79.

_ Q-OEBA-K-NBU

o)

%WWWWGWQMWﬁW

7 5 =9 <o § v WEw 8 o T ¥ 12 1%
oo Trar 7 | ¥R UIRR TEA @ @ P

(a) 4
b) 95

() 2318
(@) oRfeRaa § 9 @ T8

1

o s A = [3

2 = "o
j\ = [aij]’ Fely, j=1,2
4

2 uﬁmwm&;[b#]%,ﬁbww
g7

(@) -2

B . 1
=
2

(@) -

=R

S A AW uglw # ¥ sk R whewm

AW AT w E P

(a) 225°

(b) 240°

(0 210°

(d) TRRRE ¥ 3 B T

y? = 12x AR ¥t x =0 ?1211 y_ﬁﬁi

-é\ammw%?

() 2 T
() 4 af o7
(¢) 6 gTE

(d) 8at 5N

80,

81.

83.

{23 - A}

.4(sm x+cosx)—1aﬁﬂﬂﬁa‘a§{m-g|m§2.

%ﬁﬁga ABC #, BC= 439, AC=5 3R
AB=T7% | 3T A A 8 ?

(a),‘%

o, %

() %

@ g

1-—1(:% 1 Wit oo g ?
(@ 1

() Jgi'_

() J3

@ 5

aft fmgalt A (k, 1, -1) @R B (2k, 0,'2) ¥ TeRaAl

X g3t B A C (2 + 2k, k, 1) & 9 ol ¥

R 2, Ak B AE R E ?
(a) -1

b 1

(¢} -3

(dy 3

I
1+e*

{a) x-Inx+¢

dx HHATE ?

() x—In(tanx) +¢
© x-In(Q+e+c
) Im(Q+e+c

et ¢ U HATDEH-R € |




i I i ) = i e A A A PA
84 he function flx) = x cosec x is 88. The vectors Z = %1 + o el g _ ’1\{,_
{a) continuous for all values of x . ‘
(b) discontinuous everywhere v T are such that they form a right-handed
. (e} continuous for all x except at x = nn, ) .o
where n is an integer system. What is ¢ equal to ?
(d) . continuous for all x except at x = nn/2, N
where n is an integer (@) 1]
' ‘A A
85. What is the solution of the differential (b) wj —xk
equation 'a[xd_y + 2y] =.xyilz ? i i
dx dx (¢ yi - xj
¥y ‘ A A
(@) x=kye? (d xi-yj
2 e 42
a @
(b)  yx = kye 89. If x=t2 y=t3 then whatis —z equal
: ' to ? ' dx’
‘ 2.2 2 : ' |
() y*x"=kye® (a) 1
(d) None of the above ' . (b) .4
| i 2t
" where k is a constant. 3
g t (C) ZE
86. A veclor b is collinear with the vector .
2 = (2, 1, -1} and satisfies the condition | () 3
=5 - ) .- . 2
a - b =3 What is b equal to ?
(@) (1, 1/2, -1/2) n
<
(b) (2/3,.1/3, -1/3)
90, What is J tan® x dx equal to ?
(¢ (1/2, 1/4, -1/4) :
-1
(d) (1,1, 0) 4 |
87. What is the least positive integer n for which (@ V3
n 3
1+1 ' 1
=] % e
(14) | ® 3
C(a) 16 1
. Yo . (C) e
(b 12 - 2
(e) 8 .
Q-0OEBA-K-NBU {24 - A}




85.

86.

87.

Q-OEBA-K-NBU

. B fix) = x cosec x

@ x % AE % R Gaa 2
(b) T 3ad & :

(o) x$ﬂﬁﬂﬂ7$%€ﬁﬁﬁ§ﬁﬁjx=nn$
for 8, S nvw i &

(d) x%ﬁﬁﬁ%%@ﬂﬂﬁ?ﬁﬁx:nnﬂ

- % fow E, 7€ now i @

EHA  GHIBRT a(xﬂ-kzy]:xyd—y &
dx dx

FE P

y

(@) x%= kye?

b

(b) yx= kyeE '

y2

(c) y21-12=1~:yeT
(@) IuRfeReEa 4 ¥ o€ =5
ST k D% R & |

¢ akw b B wRy 2 =@ 1, -1 T R
d3RfmT 2 . b =3B EITRAME L b
A AR ? :

(ay (1, 1/2, -1/2)
(b) (2/3, 1/3, -1/3)
(© -(1/2, 1/4, -1/4)
@ 1,10

-1
g2
(@ 16

(1“} =1 ¥ e A oo wOie n &

- (b) 12

(0 8
(d)

88.

89.

90,

A n A —»

ofewr A =xi +vyj +zk, b = k,
Hored e sa ) ¢ ST AA I8 ?

T e

(@) )

(b) yj\ -xli;
(c) yri\—xji\
) x4 —yj

(c)

s

(d)

b0 | Co

tan x dx DI HHRTE ?

i
oy —ain

(b)

cof

(c)

BD | =

(d) 0O

{25 - A) -




91.

92.

93.

94,

Q-OEBA-K-NBU

(a) 6

(b) 12

(c) 15

(d) More than 15

where ¢ is a constant of integration.

Let
and

O, 0, 0), P(3, 4 5), Q(m, n, r
R(1, 1, 1) " be the vertices of a
parallelogram taken in order. What is the
value of m+ n +r ? '

What is the solution of the differential |

equation 3 e* tan y dx + (1 + ") sec? ydy = 0 ?

(a)

(1+eX)tany=c

(b) A+etany=c
() (1+e¥%tany=c
d (1+e¥sey=c

What is the locus of points, the difference of
whose distances from two points being
constant ?

(a) Pair of straight lines

(b) An ellipse
(e} A hyperbala
{d) A parabola

What is the differential equation for
ye=4da{x—a)?

(a) yy - 2xﬁ’ +y2=0
(b) vy (yy +2x) + y2 =0
() yy (yyv' —2%) + y2 =0

(d) yw-2xyy4+y=0

95I

96.

97.

(26 - A}

" If the angle between the vectors 2 and E

is %, what is the aﬁgle between —5a and

-
6b 7 -
ka) z
-6
® =
3
g B
L
g 28

7 \

What is the degree of the differential equation

& -1 + (gl)a =0 ?
dx? dx

(a) 1

(b) 2

() 3

(d) 6‘

3 3

If szlnxdx=x—lnx+x—:+c, then
m .

what are the values of m and n respectively ?

(a) 1/3, -1/9
(b) 3, -9
¢ 38, 9

(.d) 3, 3

where ¢ is a constant of integration.




o1, WM AfE 5 000, 0,0, PG, 4,5, Qm o |95 % et 3 ok b » dao B 2 R, @

MR, 1L, D B g9k ogdst & @uen R _
oif € 1 m+n+r$IH'IT-TEmT'§?. -5a Sﬁ?ﬁl; TTumBPU RIS ?

{a) 6

: (a) .

b 12 B
| e} 15 (b) 2n

3
(d) 15 9 3es
S ' (c) 35-’3
92.  37THA AU _
Se*tany dx + (1 +e%)sec? ydy =0 3 '

FEATNE ? (d) -

(@) (L+eMtany=c

B A+eMtany=c : 96. vmww wiwxor 9 _ 1+[d_y)3=0 5

. . 2
(©0 Q+etany=c Co dx’ o
, : o Far & ?
d) (1+esecty=c
TRl ¢ U HHG-3ER & | _ ' (a) 1
93. a1 fogsll & qRAT & wm =R g gl @
fegmrand? (© 3
(a) RS X@-gH e (@ 6
(b) e | I 3 ! -
: 97. ufg szlnxdx=x—lnx+x—+c, ar
(cy FiwRaeyg m - n
m 3R n & AW wA @ E 2
(d) Wawd K :
| @ 1/3, -1/9
94. y?=4a(x-a) & oW 35 TR Fa1 & ? . :
_ (b) 3, -9
(a) yy —-2xyy +y2=0 :
(b yy (yy’:+ 2x)+y2;0 ) 3,9
© yy Gy -20+y2=0 © @ 3,3

@ vy -2xyy +y=0

SR ¢ UF qHHEH-IR ©
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98. | What is the principal value of cosec™! (— JE )7

99.

T

(a) Z

T

(b) 3
_ T
(!’-‘) = Z 7

-(d) O

If f:R-R, g:R—>R 'and_g(x)=x+3
and (fog)(x) = (x + 3)%, then. what is the value
of {~3)7 ' - '

(a) -9
(b) O
(¢} 9
{d) 3
-8 LY
100, What is the value of lim =3 9
' ' x-1 |x-1j
(@) 0
(b 1 :
(0 -1
(d) The limit does not exist

Q-OEBA-K-NBU

' 101. A balloon is pumped at the rate of 4 em? peri

second. What is the rate at which its surface
area increases when its radius is 4 cm.?

(a) 1 crnz/_sec
(b) "2 mz/sec
(0 3 cm?fsec
(d) 4 cm®/sec

102.

103'

1104.

105.

" {e)
@

{28 - A

()

1+tan15°

What is the value of ———==_ ?
i 1-tan 15D.
(a) 1
i }
b) —
® &
" 1
(c) ==
49
(d 3
If -f(x) =kxd — 9x2 + 9x + 3 is Imonotonically

incréasing in every- interval, then which one -
of the following is correct ?

(a)

k<3
k<3
¢) k>3
m).k§3

e 1B .12 & ' :
If sin™! = 4 sin It e 2 , then what is the. -
X x 2

value of x ?

{a) 1
b 7
© 13
@

If o, p are the roots of the quadratic
équation x% — x + 1 = 0,

: then which one
of -the following is. correct ?

(a) (a* - p* is real
(b)  2(a® + p%) = (a B)°
(a® - p8 =0

(a® + Bs) = (o B)8




1+ tan 15°

98: .cosec'l(—ﬁ)ﬁﬂmmmﬂ’? 102, T BARTE ?
@ 7 (@) 1-1
(o) — ® &
| 1
o % (e) -E
| d 3
@ ,0 °

103. afe fx) = kx® - 9x% + 9x + 3 WIS 3R A
99. If¢ f:Ro>R g:R>R 3R gx)=x+3 e adnr €, @ Frafifea § @ o W e el

qar  (fog)x) = (x + 3)2, @ (- 3) & AR T 27
g7 :
' (a) k<3
{fa) -9
b)) k<3
b © !
© 9 . , (¢) k>3
(dy 3 : (d) k=38
li (x-1)* g7 15 112 =
100. lim ——0- DIHFTE 1104, TR osin?t 2 4sint 2= 2, @ x &1 W T
x—>1 |x-1] X x 2 '
(b) 1 _ (a) 1
(¢) -1 | by 7
(d) ¥ @ i 9 2 L (¢) 13
(d) 17

101. U% [ERT 4 cm? Wid JBU8 @l X § Perdr v

R E Tt
%i?ﬁmﬁi“m%mmm 105. e fgora TR x2 - x+1=0 & o, B F,

| . ar e & & B W wE W R 2
(a) 1cm [sec (@ (of — gt areles &

2
(b) 2 cm /SEC (b) 9 (as + 55) = (CC B)S

(¢ 3 cm?/sec @ (of - BB)F 0

(@ 4 cm?/sec @ (@f+p®=(ap?®
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106. What is the value of J3 cosec 20° —sec 20°? |108. If angles A, B, C are in AP, then wflat 18
) : sin A + 2 sin B + sin C equal to ?

(a) 1/4 P
(a) 4 sin B cos? (A_;E)
(b) 4
© (b) " 4 sin B cos® [#) '
d 1 : '
' e 2 (A-C
107. The probability distribution of random _ ) & pm (b s T)

variable X with two missing probablhtles Py |
and p, is given below :

(d) 4 sin (2B) cos® | B2~V

X P(X) N 4
1 k
9 Py 109. StatementI: If -1<x<0, then

. ] =17 - 1 _ 2
3. ik cos {sin™ " x) \/ X,
4 P2 . Statement II ;: If -1<x<0, then

5 2k _ ‘ sin {cos™lx) = Jl —x2

" It is further given that P(X < 2) 025 and ] o _
P(X > 4) = 0-35. Which one of the following is correct in respect

of the above statements ?

Consider the following statements : _

1 B ' (a) Both statements 1 and II ~ are

- P1=P independently correct and statement II

9. p.+p,=PX=3) : is  the. correct explanation of
1 % ; statement 1

Which of the statements given above isfare ' ‘
(b} Both statements I and II are

B . 9 L
BOTEEER independently correct but statement II
¥ is not the correct explanation of
(a) 1 only . statement I -
(b} 2 only : , "~ (c) Statement I is correct but statement 11

1s false

{¢) Both 1l and 2 ' . ‘ . :
: (d) Statement I is false but statement II is

{d) Neither 1 nor 2 E : correct
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